QID: 201 -

[n the following guestion, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Tl vy & ffr o7 reewt 7 @ wy B
(?) & TUEH W I T HEA B GRAT

512 4
4 |1 6|2
3| 5| 4
60|60 | ?

Options:

1) 24

2) 32

3)48

4) 60

Correct Answer: 32
Candidate Answer: 32

QID: 202 -
How many triangles are there in the given figure?

& e iy A fRaa e E2

M
Options:

19

2)10

3)8

4)12
Correct Answer: 10
Candidate Answer: 10




QID : 203 -

A word 1s represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrix-l are numbered from 5 to 9. A letter from these matrices can
be represented firs{ by ils row and next by its column, for example, V' can
be represented by 21, 87, elc,, and ‘Q’ can be represented by 41, 89, etc.
Similarly, you have to identify the set for the word “MAPLE”.

T (G Bdd T GEA-OAF a7 G wan € S R Reeur # @
e v F fear ar #1 fawedl F Ry o Fearady IR & oy 9t
gRI g v §, Star B U ae gt ey # ¥ regEl 6 TaE AR
Ofts o dEar 0 8 4 ¥ 3k syl A 5 91 39 Fegml @ U SR
B Ugel IWEH URh R aig 3 TN WEAT g U S Hhar B
iAo & AT v @t 21, 87, 30T gRT T I WAl § AU Q@ 41,
89, INTE ERT GAAT o Hehehl &l 38 oo A MUl v & RBU e
“MAPLE” & for og &1 ogamE=r ¢

Matrix-I Matrix-ll
Jrege-l Jegg-l
o(1(2]3|4 Hh|6|7|8|9
0|Z|B|(D|F|H 5|H|J|C|E|W
1| J|L|N|P|R 6|F|LI[A|IG|U
2 TIVIX|AIM TIDINIX|I|S
JIE[G|IT|K[IM §|BlE[VIK|Q
41 DQ|S|U|wW 9IA|R|ITIM|P

Options:
1) 34,23,13, 68, 87

2)24,67,13,11, 58
3) 34, 64, 98, 66, 86

4) 98, 23,99, 14, 31
Correct Answer: 24,67,13,11, 58
Candidate Answer: 24, 67,13,11, 58

QID : 204-
From the given answer figures, select the one in
which the question figure is hiddenfembedded.

A o T AEAl A W W I IE A gl
o # vy sl BfT T

Y




Options:
1)

Correct Answer:

Candidate Answer:

QID : 205 -

Which answer figure will complete the pattern in the
guestion figure?

hid W 39X GG W AFa & UasT & g
HET?




Options:
1)

o

(0]
Correct Answer:

(o]

Candidate Answer:

QID : 206 -

If & mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afy mF gur @ AB T@T W @l AT, ar &
T EEEt d @ @i o aEly ua el

T viatase grefr?

B




Options:
1)
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-

D @) [ |
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Correct Answer:

%

Candidate Answer:

%

QID:207 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & ey Elaal # REmw 3R wee @
ATSHT e dAT Tield & a1 Ig hH SR AP
S e dome
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Options:
1)

N
-

w
-~

£y
=
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Correct Answer:

Candidate Answer:

QID : 208 - If '-' means '+, '+ means '%, =" means '-' and 'x' means '+, then which of the following equation is true?

e '~ 1 1ef '+, '+ @t 3ref 'k, '+ et aref = T 'x’ &t 3ref '+ g, ot RafaRaa A @ @i g arftensor gt @7
Options:

1)27-3+12=110

211 +11+11=111

3)13x14+3=56

4)57-19x4=7

Correct Answer: 57 - 19x4=7

Candidate Answer: 57 - 19x4=7

QID:209-1f4*2=64and1*9=81,then3*4="?

R 4*2=64qM1*9=818,d3*4=2
Options:

1) 169

2)121

3) 144

4)100

Correct Answer: 144

Candidate Answer: 144




QID : 210 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Triangle
2. Trimmed
3. Tussle
4. Taste

5. Tangle

Frafafd el it eregenter & o1 aret T & SrgaR ford]

1. Triangle
2. Trimmed
3. Tussle
4. Taste

5. Tangle
Options:

1) 54312

2) 54321

3) 51423
4) 54123

Correct Answer: 54123
Candidate Answer: 54123

QID : 211 - In the following question,select the missing number from the given alternatives.
1,23,2,18,4,13,8,8,16,?
Frafafed wsr A fig g fenedl 7 § g sfe 1 d Hiforg)

1,23,2,18,4,13,8,8,16,?
Options:

Correct Answer: 3
Candidate Answer: 3

QID : 212 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
DF, HJ, LN, PR, ?

e 3rgend faa ma &, O § e U g 81 ey g faesed £ & o udl faeeew g, St srgeem Al qu

DF, HJ, LN, PR, ?

Options:

1) UW

2) su

3) TV

4)TW
Correct Answer: TV
Candidate Answer: TV

QID : 213 - In the following question, select the odd word from the given alternatives.

Frafafed wer 8 Rg 1y Rt 8 9 R{ue eeg @6t gl

Options:
1) Bengali
Euicis

2) Hindi

=

3) English
o

4) Mathematics
o

Correct Answer: Mathematics

Candidate Answer: Mathematics
afora

QID : 214 - In the following question, select the odd number from the given alternatives.

Frafafed ey 8 g 1y et § § faws T # glgl




Options:
1) 69

2)79
3)89

4) 59
Correct Answer: 69
Candidate Answer: 69

QID : 215 - In the following question, select the odd letters from the given alternatives.

Frafafed wy # g 1y et & 4 faws srert ol gfg)
Options:

1) BE

2) NU

3) HI

4) MO

Correct Answer: NU

Candidate Answer: MO

QID : 216 - Identify the diagram that best represents the relationship among the given classes.
Prime Number, Even Number, Odd Number

I $R@ gy it A= g 71q gt & <9 3 el o gl feuor saear gl

WIS TEHT, T AT, fauw e

Options:
1)

2)

D
O

QD

4

Correct Answer:

QD

Candidate Answer:

1,




QID : 217 - In the following question, select the related word from the given alternatives.
Artists : Troupe : : Singers : ?

Frafafed e 8 Rg 1y Rt 3 9 9afda g @ gfgl

HEATHR : ASUET : : TRIh : ?

Options:
1) Team

2) Council
uRug

3) Stock
HUSR

4) Chorus
TR

Correct Answer: Chorus
RIECTA)

Candidate Answer: Chorus
RIEETAS)

QID : 218 - In the following question, select the related number from the given alternatives.
27:8::125:?

FrfafEa wer A Ry 7y Qe § @ Gaifda den & gl

27:8::125:?

Options:

1) 343

2) 512

3) 216

4) 64
Correct Answer: 64
Candidate Answer: 64

QID : 219 - In the following question, select the related letters from the given alternatives.
CDE:DFH::KTN:?
fFrafafed vy 8 Rg 1y et § G T6fda sieri @& g

CDE:DFH::KTN:?

Options:
1) MUQ

2) MVP
3)LUP

4) LVQ
Correct Answer: LVQ
Candidate Answer: LVQ

QID : 220 - In the following question, select the word which cannot be formed using the letters of the given word.
BACKGROUND

FrafeiRad fered 7 § 98 e Y St R4 TG 2165 < 3181 1 TANT dheeh 781 ST Sl Fehd|

BACKGROUND

Options:

1) CAGER

2) ROUND

3) BACK

4) RUN
Correct Answer: CAGER
Candidate Answer: CAGER

QID : 221 - Present age of Aman is 46 years. 10 years hence ages of Aman and Sumit will be in ratio 8 : 11. What is the present age (in years) of Sumit?

31 Y aFH g 46 a &1 10 a S




Options:
1)77

2) 67
3)63

4)73
Correct Answer: 67
Candidate Answer: 67

QID : 222 - In a row of books History book is 10t from top and English is 10t from bottom. If there are 40 books in the row, then how many books are there between
History and English books?

QXA T Jeh Ufeh A SiaeTd & gRads SR @ 10 I § T S & gRae A9 € 10 6 21 3 dfth 7 40 qadh 8, F e qun it i qwaent & i fhat gwe 82
Options:
1)20

2) 21
3)19

4)18
Correct Answer: 20
Candidate Answer: 18

QID : 223 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be
at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. All tables are chairs.
1l. Some tables are pencils.

Conclusions:
1. Some pencils are chairs.
Il. Some pencils are tables.

12 g 7TQ vet @ e SfR S aTE S Rl R TR o sy g 1Y &, BTeifes S S A aea § O g Send! 81 |t frend ug ofik fiRr FafRa @R fs g Mg e
@ s, fag 71q smerl 3 SR wR gihed &1

DY
. aoft A Tt &)
1. T A 9fe< 81

fArscpef:
|. g tfaa gRiaT €
. 3o U A &1
Options:
1) Only conclusion (1) follows.
fsad (1) @@l g
2) Only conclusion (Il) follows.
e e (1) @t 81
3) Both conclusi%n follow.
|
4) Neither conclusion (1) nor conclusion (11) follows.

Tt Freent (1) 7 &t Freans (1) 7t 81

Correct Answer: Both conclusion follow.

gt ool @t €1

Candidate Answer: Both conclusion follow.
gt g e Wl €
QID : 224 - In a certain code language, "DIGIT" is written as "EJHJU". How is "BINARY" written in that code language?

Y fAfrE srte wrer , "DIGIT" &t "EJHJU" foran STt & | 39 ohie et & "BINARY" &l fohet UanR forar smgam?

Options:
1) CJOBSZ

2) CJOBTZ
3) cJocsz

4) CJPBSZ
Correct Answer: CJOBSZ
Candidate Answer: CJOBSZ




QID : 225 - In a certain code language, "PIN" is written as "16914" and "NIP" is written as "14916". How is "RUN" written in that code language?

eh fafre ste wrer &, "PIN" 61 "16914" a2 "NIP" it "14916" foar ST &1 39 @l 9maT J "RUN" ah! fohe TepR forar smgam?
Options:

1) 182114

2) 182214

3) 182215

4) 192114
Correct Answer: 182114
Candidate Answer: 182114

QID : 226 - What is the value of 22 + 42+ + 2022

22442+ .. + 202 FTAF R E?

Options:
1) 1440
2) 1320
3) 1540
4) 1640

Correct Answer: 1540
Candidate Answer: 1540

QID : 227 - If A = 24 x 53 and B = 23 x 52, then what is the value of A x B?

A A=24x53qu B =23 x 52 8, af A x B T A R 8?2

Options:

1) 400000
2) 200000
3) 500000
4) 2500000

Correct Answer: 400000
Candidate Answer: 400000

QID : 228 - If 2¥*2 + 2%1 = 36 then what is the value of x?

e 2%*2 4 2% = 36 &, |l x &l A T 8?7
Options:

1)2

2)3

3)4

4)5
Correct Answer: 3
Candidate Answer: 3

QID : 229 - What is the simplified value of 232 x 854 x 16167

232 % 864 x 1616 &1 TReligha A T E?

Options:
1) 2112
2) 3224
3) 4288
4) 5256

Correct Answer: 4288
Candidate Answer: 5256

QID : 230 - What is the unit digit of 139 x 436 x 158?

139 x 436 x 158 oI 3HIS 3ich T 8?2
Options:

Correct Answer: 2
Candidate Answer: 2




QID : 231 - How many positive factors of 80 are there?

80 & TeHE TUEUS fha §?
Options:

17

2)4

3)10

4)20

Correct Answer: 10
Candidate Answer: 10

QID : 232 - A pipe can fill a tank in 20 hours. But due to leakage it is filled in 60 hours. If the tank is full then, how much time will the leakage take to empty it?

e AT Uek el Rl 20 ©E 7 ¥R Hehal 8| Tg o % 17 ol Ioig & I8 60 62 7 +R a1 81 Ife Eohl Ot awg R g1, af Rema & 39 @reft g1 | feham w9 om?
Options:

Correct Answer: 30
Candidate Answer: 30

QID : 233 - A tank has a leak which would empty it in 40 hours. A tap is turned on which admit 10 litres an hour into the tank then it is emptied in 60 hours. How many
litres does the tank hold?

e &hl Y ot § o B¢ &, Oradh sRor ar 3 g 9t Eeht 40 62 F arelt g STt 81 10 witex Ui € <t IR & R & UTt 9= aTel Geh el dre], foRar St &, at SRt ot @reft g |
60 € T & | Tt § foha ofiex Ut 9RT ST TehaT &7

Options:

1) 1000

2) 1200

3) 900

4) 800

Correct Answer: 1200

Candidate Answer: 1200

QID : 234 - If the curved surface area of a cylinder is 880 cm? and the height of the cylinder is 20 cm, then what is the radius (in cm) of the cylinder?

afe e 1 uref gl dher 880 VA2 B, der dor Y Fard 20 S, B, o do Y s (3.4 ) wn 82

Options:

17

2)14

3) 21

4)3.5

Correct Answer: 7
Candidate Answer: 7

QID : 235 - An article having marked price of Rs 3900 is sold at a discount of 26%. What is the selling price (in Rs) of the article?

ek 3900 ¥ Sifchd e dTell a¥g H 26% I Be IR 4T 4TI I ol fIehd ed (T H) 1 87
Options:
1) 3129
2) 2886
3) 3243

4) 3189
Correct Answer: 2886
Candidate Answer: 2886

QID : 236 - Marked price of an article is Rs 6000. 12.5% discount is given. If there is a profit of 5%, then what is the cost price (in Rs) of the article?

e g a1 Sifchd e 6000 % 31 12.5% &1 @e & St 1 T 5% T T gidl &, < 3 Hed (3 H) |1 8?

Options:
1) 4750
2) 4800
3) 5000
4) 5200

Correct Answer: 5000
Candidate Answer: 5000

QID : 237 -1f a:b = 5:7,then what is the value of (b + a) : (2b — 2a)?

affa:b=5:7,ad (b+a): (2b - 2a) &1 HH F1 &2




Options:
1)6

2)3
3)12

4)9
Correct Answer: 3
Candidate Answer: 3

QID : 238 - At present the ratio of the age of U and V is 3 : 7 and ten years from now, the ratio will get changed to 17 : 33. What is the present age of U?

U T V <l IciHT 311 ol 10T 3 : 7 & 9T 10 Tt si1& I8 SIUTd 17 : 33 81 ST1aT 81 U <6l aciai 31rg o &7
Options:

1) 56

2) 66

3)34

4)24

Correct Answer: 24

Candidate Answer: 24

QID : 239 - Average age of a group of 12 children is 10 years. If a child leaves the group, then the average of remaining 11 children becomes 9 years. What is the age
(in years) of the child who left the group?

12 =gl & Qe g ohi SEd o1y 10 I 81 I Yeh aIea T BIghs 9ol SIIdT &, df A9 11 Fr=a i 3Ed SRy 9 9 81 STl & | TE BISHh S aret aedl <l 11y (it H) foratt 872

Options:
121

2)22
3)24

419
Correct Answer: 21
Candidate Answer: 21

QID : 240 - If 0.5 x cost price = 0.7 x selling price, then what is the loss percentage?

af% 0.5 x 3 g = 0.7 x ferar 9w &, & &1 ufasra @ 82
Options:

1) 40

2)20

3)14.28

4) 28.56

Correct Answer: 28.56
Candidate Answer: 28.56

QID : 241 - A shopkeeper claims to sell his goods at cost price but uses a weight of 450 gm for 500 gm what is the profit percentage for the shopkeeper?

e TGRSO %3] el $hd Hed IR 97 ST Q1T Shedll § ol a8 500 U o Saet 450 T S ot ol HANT 3T & | GEMGR a1 a1 Afasrd a1 87
Options:

1)10

2)11.11

3)9.09

4)12.5

Correct Answer: 11.11
Candidate Answer: 9.09

QID : 242 - If the price of sugar is increased by 12.5%, then by how much percent consumption should be reduced so that the expenditure remains the same?

Ife A+t & g § 12.5% & gfG 8 Il 8, At Skl @ua # foham wfasra & sl &t g fos @< 7 &l uRed= A 812

Options:

1) 9.09

2)10

3)11.11

4)12.5

Correct Answer: 11.11

Candidate Answer: 9.09

QID : 243 - If the radius of a circle is decreased by 25% , then what is the percentage decrease in the area of the circle?

Tfg foneft g1 i B & 25% i st i g, |t I8k &=thar 8 fhw nfaera i &t ghf?

/



Options:

1) 25

2) 43.75

3) 50

4) 56.25

Correct Answer: 43.75

Candidate Answer: 56.25

QID : 244 - A train passes two bridges of length 1200 metres and 600 metres in 240 seconds and 160 seconds respectively. What is the length (in metres) of the
train?

ek IS 1200 Hiex J1 600 Fiex T af Gell il shA2T: 240 FeRUS TUT 160 hUS A UR e oiell g1 IeT! i avarrg (Ffiex 7) Far 82

Options:
1) 450

2) 600
3)720

4) 750
Correct Answer: 600
Candidate Answer: 600

QID : 245 - The length and breadth of a rectangular field are in the ratio of 5 : 4. If the perimeter of the field is 90 m, then what is its breadth (in metres)?

ek STTIATeRR & & TaTs aT TS ot orguTd 5@ 4 81 3 &7 a1 uRemg 90 Hiex 8, ot sweh Tiers (Hiex #) e 87
Options:

Correct Answer: 20
Candidate Answer: 20
QID : 246 - A certain amount becomes 4 times in 8 years, when invested at compound interest. In how many years will it become 256 times?

e YT i, Tergleg emer R P &=a & 8 o & 4 171 81 el 81 98 fShast aut & 256 T 8t smerit?

Options:
1) 64

2)32
3)20

4) 48
Correct Answer: 32
Candidate Answer: 32




QID : 247 -

The line graph given below shows the sales (in ‘000)
of car by a company for four months.

@9 T om Ymr Ry # o FwEh g IR #@dE
# onfsat Fr Rhr 000 F) @ I AT AT E

12 - 10
gk 101 8 11
S o 81 6
:c
= £ 6 -
ESE; 41
& 2
0
& &£ & £
B‘% @}‘;‘&\ .Qa":‘ Q@*\
Y& »@‘Q Oo@
iy
Month / #glaT

What is the total sales in month of September and October?

v qun srpeR 9 Y e forshi ot &2

Options:
1) 18000

2) 21000
3) 22000

4) 14000
Correct Answer: 21000
Candidate Answer: 21000




QID : 248 -

The line graph given below shows the sales (in ‘000)
of car by a company for four months.

@9 o ow tmr R # oo AU T IR #@gEt
F otz i TRy (000 ) @ g T g

—
N
|

10

Sales (in "000)
fashr (000 )
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Month / #giaT

What is the difference between the sales in month of August and October?

ST AT IR HeH1 < foshl & fohamm v 82
Options:

1) 6000

2) 5000

3) 11000

4) 4000

Correct Answer: 5000

Candidate Answer: 5000




QID : 249 -

The line graph given below shows the sales (in ‘000)
of car by a company for four months.

@9 T om Ymr Ry # o FwEh g IR #@dE
# onfsat Fr Rhr 000 F) @ I AT AT E

12 - 10
gk 101 8 11
S o 81 6
:c
= £, 6
ESE; 41
& 2
0
& &£ & £
B‘% @}‘;‘&\ .Qa":‘ Q@*\
Y& »@‘Q Oo@
iy
Month / #glaT

Sales in September is how much percent more than the sales in July?

e & forsht Feims &1 forehi & e wfcrara afdres 82

Options:
1) 20

2)10
3)25

4) 40
Correct Answer: 25
Candidate Answer: 25




QID : 250 -

The line graph given below shows the sales (in ‘000)
of car by a company for four months.

@9 T om Ymr Ry # o FwEh g IR #@dE
# onfsat Fr Rhr 000 F) @ I AT AT E

12 - 10
gk 101 8 11
S o 81 6
[=]
£S 6
ﬂg 41
e 2
0 T T T T 1
& £ & E
> \}é‘\ Q &
P &L &
by ) Oo\
&
2
Month / #giaT

What is the average sales in the given 4 months?

Ry g 4 7=t i siiga faghi farat 82
Options:

1) 8750

2) 9000

3) 7500

4) 8250

Correct Answer: 8750

Candidate Answer: 8750

QID : 251 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.
The Statue of Liberty is (1)/ situated in (2)/ New York City. (3)/ No Error (4)

Options:

Correct Answer: 4
Candidate Answer: 1

QID : 252 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Nita is not only (1)/ my friend but (2)/ business partner too. (3)/ No Error (4)

Options:

01

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 2

QID : 253 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.
A stranger entered room and closed all the windows.




Options:
1)in

2) into
3) the

4)up
Correct Answer: the
Candidate Answer: the

QID : 254 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

A group of ABC School boys
Options:

1) walked

the highest peak of Mt. K2.

2) scaled
3) lost

4) won
Correct Answer: scaled
Candidate Answer: scaled

QID : 255 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Primitive

Options:

1) Present

2) Ancient
3) Modern

4) Cultured
Correct Answer: Ancient
Candidate Answer: Ancient

QID : 256 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Accede

Options:
1) Comply

2) Refuse
3) Protest

4) Dissent
Correct Answer: Comply
Candidate Answer: Comply

QID : 257 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Reprimand

Options:
1) Flattery

2) Reward
3) Rebuke

4) Praise
Correct Answer: Rebuke
Candidate Answer: Rebuke

QID : 258 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Gratify

Options:

1) Annoy

2) Thrill

3) Humor

4) Fulfill

Correct Answer: Annoy
Candidate Answer: Annoy

QID : 259 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Hostile —
Y /




Options:
1) Unkind

2) Friendly
3) Nasty

4) Bitter
Correct Answer: Friendly
Candidate Answer: Friendly

QID : 260 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Pious

Options:
1) Sacred

2) Godly
3) Sinful

4) Divine
Correct Answer: Sinful
Candidate Answer: Divine

QID : 261 - In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Raining cats and dogs.

Options:
1) Drizzling

2) Earning lots of money
3) Raining heavily

4) Fighting badly
Correct Answer: Raining heavily
Candidate Answer: Raining heavily

QID : 262 - In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Do a good turn.

Options:
1) To help someone

2) To put to death
3) To prick the heart

4) To cause grief
Correct Answer: To help someone
Candidate Answer: To help someone

QID : 263 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement
is needed, select "'no improvement".

It being a sunny day (we have decided) not to go to the zoo but to go to a mall.

Options:

1) we will decided

2) we decided

3) we decide

4) No improvement

Correct Answer: we decided

Candidate Answer: we decided

QID : 264 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement
is needed, select "no improvement".

(1 am trying) to make her eat since morning but she is not eating at all.

Options:

1) | have been trying

2) | have tried

3) I tried

4) No Improvement

Correct Answer: | have been trying

Candidate Answer: | have been trying

QID : 265 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.
A large body of water with many islands.




Options:
1) Strait

2) Gulf
3) Archipelago

4) Peninsula
Correct Answer: Archipelago
Candidate Answer: Archipelago

QID : 266 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.
A man whose wife is dead.

Options:
1) Widow

2) Widower
3) Bachelor

4) Spinster
Correct Answer: Widower
Candidate Answer: Widower

QID : 267 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Mathematics

2) Methematics
3) Mathamatics

4) Mathemetics
Correct Answer: Mathematics
Candidate Answer: Mathematics

QID : 268 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Nabour

2) Neighbour
3) Nieghbour

4) Neighber
Correct Answer: Neighbour
Candidate Answer: Neighbour

QID : 269 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

The recession has made

P: but because of limits to growth

Q: because of worse management techniques,

R: us realize that it is not

Options:

1) RQP

2) QRP

3) PQR

4) QPR

Correct Answer: RQP
Candidate Answer: RQP

QID : 270 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

Floods in many parts

P: states of Bihar and Assam

Q: of India like the

R: are a yearly phenomenon

Options:
1) PQR
2) QPR
3) QRP
4) RQP

Correct Answer: OPR




Candidate Answer: QPR

QID : 271 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The most obvious effect of corruption is a loss of public esteem for politicians and political life. The impact on business and the wider society is also
. Business gains some more cash credits as they are corrupted these things occur only on the initial stage. Corruption is also called in
India. This disease increases risks and costs to business, investor confidence and stops economic growth of the business.
The most obvious effect of corruption
Options:
1) social
2) economical
3) political
4) religious

Correct Answer: political
Candidate Answer: economical

QID : 272 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The most obvious effect of corruption is a loss of public esteem for politicians and political life. The impact on business and the wider society is also
. Business gains some more cash credits as they are corrupted these things occur only on the initial stage. Corruption is also called in
India. This disease increases risks and costs to business, investor confidence and stops economic growth of the business.

The impact on business and the wider society is also
Options:

1) favourable

2) encouraging

3) terrible

4) moralistic

Correct Answer: terrible

Candidate Answer: terrible

QID : 273 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The most obvious effect of corruption is a loss of public esteem for politicians and political life. The impact on business and the wider society is also
. Business gains some more cash credits as they are corrupted these things occur only on the initial stage. Corruption is also called in
India. This disease increases risks and costs to business, investor confidence and stops economic growth of the business.

Business gains some more cash credits as they are corrupted
Options:

1) but

2) also

3) always

4) so

Correct Answer: but

Candidate Answer: but

QID : 274 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The most obvious effect of corruption is a loss of public esteem for politicians and political life. The impact on business and the wider society is also
. Business gains some more cash credits as they are corrupted these things occur only on the initial stage. Corruption is also called in
India. This disease increases risks and costs to business, investor confidence and stops economic growth of the business.
Corruptionisalsocalled________inIndia.
Options:
1) boon
2) good
3) disease
4) great

Correct Answer: disease
Candidate Answer: disease

QID : 275 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The most obvious effect of corruption is a loss of public esteem for politicians and political life. The impact on business and the wider society is also
. Business gains some more cash credits as they are corrupted these things occur only on the initial stage. Corruption is also called in
India. This disease increases risks and costs to business, investor confidence and stops economic growth of the business.

investor confidence and stops economic growth of the business




Options:
1) enhances

2) damages
3) shocks

4) exfoliates
Correct Answer: damages
Candidate Answer: exfoliates

QID : 276 - Gross domestic product is a measure of

Tehel I IATG HIATT &1

Options:

1) A country's international economic activities
eR 337 Y o i

2) A country’s domestic economic activities

eh 237 <l B refaraeen f

3) A country’s economy related to its neighbours
Qoh 337 il 3Tk TSt 9 Tafda

4) A country'’s agricultures activities

e 327 I iy Fereft it

Correct Answer: A country’'s domestic economic activities

e 37 I TR sreferaeen i

Candidate Answer: A country’s domestic economic activities

e 37 I TR SreferaRen i

QID : 277 - Which of the following sector of economic activity helps in the development of primary and secondary sectors.

Frafafea 3 @ ol o snfdfes wfafafd orafie qur fgdiae & & faema § A w87

Options:
1) Tertiary sector

2) Quaternary sector
C
3) Tertiary and Quaternary sector both
IR qT agANTS T
4) None of these
EENEE]

Correct Answer: Tertiary sector

Candidate Answer: Tertiary sector

GrigcEecH

QID : 278 - Who appoints the Chief Minister of state?

foreht I o el Y Sl R shedt 87
Options:

1) Prime Minister of India

R S HeHAT

2) President of India

IR & AFfT

3) Judge of Supreme Court

el e o =mmeftar

4) Governor of State

I & AT Ted

Correct Answer: Governor of State
I & g uTe

Candidate Answer: Governor of State
I T eguTe

QID : 279 - Which country has the lengthiest written constitution in the world?

g o1 wo fapa forfea Sfdem R v s 2

Options:

1) India
R

2) Pakistan
TR

3) America

4) Australia

Correct Answer: India
ava




Candidate Answer: India
YR

QID : 280 - In which year did Mahatma Gandhi came back to India?

o e mrgrenT el aRa o e 97

Options:

1) 1918

2) 1925

3) 1915

4) 1909

Correct Answer: 1915
Candidate Answer: 1915

QID : 281 - Who defeated the Mughal Emperor Humayun and captured Delhi to eastablish his own dynasty?

forer Tt TrTe A gAY ot WRied ok ae et uR SfYeRr ohveh T SrueT reTder wenfua foRar?
Options:

1) Sher Shar Suri

R g T

2) Bahlul Lodi

Fgtet Al

3) Khizr Khan
fEerEm

4) Ghiyasuddin Balban

Eicee
Correct Answer: Sher Shar Suri
R B TI
Candidate Answer: Sher Shar Suri
R E TH

QID : 282 - Celestial bodies which do not have their own heat and light are called what?

el fis fS=8 ST T Ud SSAT 181 Bidt S T Shgl STidT 6?2
Options:

1) Stars

arT

2) Sun

3) Planets

g

4) None of these

BEEEIEE]

Correct Answer: Planets

g

Candidate Answer: None of these

T Qi T
QID : 283 - The four major directions, North, South, East and West are called what?

TR A feamsii, <R, Sfavr, O& Ud ufH ol o1 gl ST 87

Options:
1) Thematic points
o

2) Cardinal points
T foig
3) Symbolic points
C
4) Conventional points
g fdg
Correct Answer: Cardinal points
ne fiig

Candidate Answer: Thematic points

QID : 284 - The incisor tooth is meant for .

FakAd____ Bl




Options:
1) biting and cutting

2) chewing

3) crushing

e & forg

4) churning

I S g

Correct Answer: biting and cutting
ferg

Candidate Answer: biting and cutting

e HR HerrA & g

QID : 285 - By which process water comes out of leaves in the form of vapour?

oy ok & STeT u=it & Se arey & w9 A et 82
Options:

1) Transpiration

AT IS

2) Evaporation
gredieneor

3) Condensation
Feror

4) Sublimation
AUl

Correct Answer: Transpiration
IS

Candidate Answer: Transpiration
TSI

QID : 286 - The smallest blood vessel in the body is a .

SRR A qe@ B Th algehI TUeh &l

Options:

1) Capillary
EaRical

2) Artery
CLEi]

3) Vena cava
Epikacl

4) Vein

T

Correct Answer: Capillary
Eancal

Candidate Answer: Capillary
Eancal

QID : 287 - A body at rest can have s

TR areredt e fue 7 g weRdt 81
Options:

1) acceleration

ROT

2) Energy

St

3) motion

4) Velocity

a

Correct Answer: Energy

Candidate Answer: Energy

QID : 288 - With the increase in temperature, the density of a substance, in general,

ama § gig & W1 gk vt 1 e amea:




Options:

1) increases

¢ ST &

2) Decreases

ST 8

3) remains same

HHH

4) first decrease then increases
UgS Heal & auT R gear g

Correct Answer: Decreases
e STaT 8

Candidate Answer: Decreases
€ STaT &

QID : 289 - What is Intel Core i7?
RABRI7 ATE?
Options:

1) Processors
iR

2) RAM

™

3) ROM

R

4) Hard disk

B1é fewn

Correct Answer: Processors
e

Candidate Answer: Processors
R

QID : 290 - Calcium hydroxide is also known as .

SR geeleEs FIvElRa T 1

Options:

1) Plaster

TR

2) Slaked lime
AT

3) Baking soda
T T et

4) Washing soda
CICERSIrH]

Correct Answer: Slaked lime

qAT AT G

Candidate Answer: Slaked lime

AT G

QID : 291 - A basic salt that is used in daily life is X

&fien ST & g fonaT ST arern s gweRa @ao ____ 8l

Options:
1) Ammonium phosphate
ThIhe

2) Sodium chloride
Tifeaw FiREs

3) Ammonium sulphate

4{ Sodium carbonate
HEAe

Correct Answer: Ammonium sulphate

Candidate Answer: Sodium chloride

QID : 292 - Which among the following is not a function performed by forests?

e & @ o 91 9t gry fhar ST aTe @l 781 &2




Options:
1) Providing oxygen
il UG AT
2) Protecting soil and providing habitat to large number of animals.
T[&T oA TR&T0T JUT Jgd IReT § SITHeR] o SHTaTd USTH et
3) Help in bringing good rainfall in neighbouring areas
ST & SRl § guf = § ggdm
4) Do not disturb water cycle and air quality
STeTeIsh AT AT, <l O S |1 BSBTS el
Correct Answer: Do not disturb water cyc;lsﬂ%nd air quality

STeTeIsh AT a1 <hl ORI & 1Y BEVTS Tl

Candidate Answer: Do not disturb water cycle and air quality
STeTeeh AT a1, S TUTET & T1Y BSBIS 8] hd

QID : 293 - What is the maximum amount (in Rs) that can be deposited per year under Pradhan Mantri Sukanya Samridhi Yojana?

vl germaT wfg A & sieria Uier af ST Y S Hene arelt stfdieRam 1Ry (% H) forart 82
Options:

1) 50000

2) 1,00,000

3) 1,50,000

4) 5,00,000
Correct Answer: 1,50,000
Candidate Answer: 1,50,000

QID : 294 - Who among the following invented Television?

Fr=fafea & @ forgm it @ enfawsr faar ar?

Options:

1) J. L. Baird

. ver. 9T

2) Frederick Banting
TheRa dfé&r

3) Alexander Fleming
SIS FArHT

4) Michael Faraday
ATgehe IS

Correct Answer: J. L. Baird
<. ga. S

Candidate Answer: J. L. Baird
. ger. 3aE

QID : 295 - Which of the following sports does not require the use of net?

fFrafef@a o @ frg @ & Ae o1 ST oA Fi SMaaehdr A8l et 82

Options:
1) Tennis

2) Table Tennis
g

3) Badminton
Sefiie

4) Golf

e

Correct Answer: Golf

Candidate Answer: Golf

QID : 296 - Which of the following dance form differs from the others given?

rffaddan @ @ aa s g @ fm §?

Options:
1) Kuchipudi

2) Bhangra
AITRT

3) Kathak

hh

4) Bharatnatyam
WRIATEH

Correct Answer: Bhangra
AT




Candidate Answer: Bhangra
AITRT

QID : 297 - Who is the winner of Laureus (The Oscar of Sports) "Sportsman of the Year Award" 2017?

2017 siRaw (Sl & sifen?) "Iy ol fEeel QRenR” & fastar &= 82

Options:

1) Michael Phelps
HIgeRd thewd

2) Usain Bolt

I e

3) Nico Rosberg
et et

4) Andy Murray
Lecigerd

Correct Answer: Usain Bolt

S aiee

Candidate Answer: Usain Bolt

I dee

QID : 298 - Who is the author of the book named "Wings of fire"?

Options:

1) Dr. A.PJ. Abdul Kalam
31, Q... 3rege e

2) Dr. Indu Anand

3) Arunima Sinha

4) Rajdeep Sardesai
ISTET TR

Correct Answer: Dr. A.P.J. Abdul Kalam
1. Q.U Srege e

Candidate Answer: Dr. A.P.J. Abdul Kalam
ST QULS. reget e

QID : 299 - The Kudankulam plant is built in India collaboration of which country?

TR # ST he-igher T fohar 321 & TgaT § s R 87

Options:
1) China
GiE]

2) Russia
=9

3) Japan
Sisic)

4) Germany
ST

Correct Answer: Russia
g

Candidate Answer: Russia
g

QID : 300 - Which among the following is a border line between India and China?

fFrfafae & @ o ara a1 99 & 7 o siagia dar d?
Options:

1) Radcliff line

Yeforae e

2) Mc Mohan line

Aeprlg ar

3) Durand line
3 @l

S
4) Palk strait
T Ferd

Correct Answer: Mc Mohan line

Candidate Answer: Mc Mohan line




